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Sequence Containers
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Constructing Sequence Containers
} vector< int > a1 ; //a1 : Ὲ֣ ԝ

} list<float> a2 ; // a2 : Ὲᴭԝ

} deque<int > b1(10,3) ; // b1 : 10 3

} list<float> b2(10) ; // b2 : 10 ӑ ứῴ ᾼа

} int c[10] = { 3 , 2 , 7 , 4 , 8 , 2 , 1 , 5 , 9 , 6 } ;

} vector< int > c1(c+1,c+7) ; // c1 = 2 7 4 8 2 1

} deque<int > c2(c1.begin()+1,c1.begin()+4) ; // c2 = 7 4 8

} list< int > c3(c+4,c+8) ; // c3 = 8 2 1 5

} list< int > c4(c2.begin(),c2.end()) ; // c4 = 7 4 8

} list< int > d1(3,2) ; // 3 2

} list< int > d2(d1) ; // d1 ẞd2

} list< int > d3 = d1 ; // ֝ϱ

} vector< int > d4 = d1 ; // Ȳ Ḃכd4(d1.begin(),d1.end())

} vector< int >c5 (c);  // ȲcЛ Ɫ ԝ

} d1 = d2 ; // ṿӣ╓ứ І d2 ẞd1

} vector< int > foo1[5] ; // 5 ֣ ԝ

} deque<int > foo2[6] ; // 6 ᴱԝ ԝ

ᶧԝ ᾎӣ ԝѠה ứῴ ȸ
vector< int > foo3 = { 3 , 2 , 5 } ; // 



Assigning Sequence Containers
} deque<int > a(3,5) , b ;

} list< int > c ;

} b = a ; //a b

} c = a ; // , c a ⱢЛ֝ ₤

} inta [4] = { 2 , 3 , 5 , 1 } ;

} deque<int > b(a,a+4) , c ; //b= 2 3 5 1 , c ⱢῈᴱԝ

} b.assign(a+1,a+4) ; //b = 3 5 1

} c.assign(a,a+3) ; //c = 2 3 5

} list< int > d ; //d ⱢῈᴭԝ

} d.assign(b.begin(),b.end()); //d= 3 5 1
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Vectors



Managing Memory of Vectors
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Managing Memory of Vectors
} vector< int > foo ; // fooⱢῈ ԝȲ Ở  ⇔Ɫ1

} foo.reserve (100) ; // foo ԝᾼ  ⇔ Ɫ100

} foo( int i = 0 ; i < 100 ; ++i ) foo[i ] = i ; // !֪ϯ ԝ ⇔(=0)

} foo( int i = 0 ; i < 100 ; ++i ) foo.push_back(i) ; // ԝ ⇔ ẞ100
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Using Indices

}ᵓӣϯ ІȸЛ ϯ

}ṿӣatϯ כ ẗהȸ ϯ

vector<int>  foo ;                  // fooⱢῈ ԝ

foo.reserve(10) ;                   //  ⇔ Ɫ 10 T ԝ ⇔ЬⱢ 0 

for ( int i = 0 ; i < 10 ; ++i )    // ϯ ҏ ԝ ⇔

foo[i] = i ;   

vector<int>  foo(10) ;              // ԝ ⇔Ɫ 10

for ( int i = 0 ; i < 10 ; ++i )    // Ӕ

foo.at(i) = i ;   

at כ ẗה ϯ ІӣᾎϚ Ȳᵀ ϯ ҏ ҏ



Iteratorsand Reverse Iterators

}ҳ ҅

} vector<T>:: iterator

} vector<T>:: const_iterator

} vector<T>:: reverse_iterator

} vector<T>:: const_reverse_iterator
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Using Iteratorsand Reverse Iterators

int dat[] = { 1 , 2 , 3 , 4 , 5 } ;

vector<int>  foo(dat,dat+5) ;

vector<int>::iterator i ;

// Ӧ›֣∟ԝ֙ҏ 1 2 3 4 5 

for ( i = foo.begin() ; i != foo.end() ; ++i ) cout << *i ЃЃ ȭ ȭ Ƞ

vector<int>::reverse_iterator j ;

// Ӧ∟֣› ֣ԝ֙ҏ 5 4 3 2 1

for ( j = foo.rbegin() ; j != foo.rend() ; ++j ) coutЃЃ ɕÊ ЃЃ ȭ ȭ Ƞ



Changing Sizes

vector<int>  foo(10,3) ;    // 10 3
foo.resize(6) ;                // ҟ Ӓᶠ 4 а ϣ כ 6 3
foo.resize(15,4) ;          // Ԛ 15 а ϣ› 6 а Ɫ аצ 3ϣ

// ∟ 9 Ɫ ҒϤᾼа 4 

vector<int>   foo(10) ; // ԝ ⇔Ɫ 10

foo.clear() ;                     // ԝ ⇔ Ȳᵀ  ⇔Ь Л

if ( foo.empty() )  coutЃЃ ȱῈ ԝɷ ;   // ֙ҏῈ ԝ



Inserting Elements

vector<int>  foo(5,3) ;                 // foo : 3 3 3 3 3

// (1) Ϥ 7 ẞ foo.begin()+1 Ἤ╓֣ᾼᴯ а П›
foo.insert( foo.begin()+1 , 7 ) ;       // foo : 3 7 3 3 3 3 

// (2) Ϥ 2 4 ẞ foo.end()-2 Ἤ╓֣ᾼᴯ а П›
foo.insert( foo.end()-2 , 2 , 4 ) ;      // foo : 3 7 3 3 4 4 3 3

vector<int>  a(2,7) , b(2,6) ;                // a = 7 7 , b = 6 6 
int c[] = { 9 , 8 , 3 , 2 } ;

insert( a.begin()+1 , b.begin() , b.end() ) ; // a = 7 6 6 7
insert( a.begin() , c+1 , c+3 ) ;             // a = 8 3 7 6 6 7
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Erasing Elements

vector<int>  foo(6) ;

for ( int i = 0 ; i < 6 ; ++i ) foo[i] = i ;   // foo = 0 1 2 3 4 5

foo.erase( foo.begin()+2 ) ;                   // foo = 0 1 3 4 5

vector<int>  foo(6) ;

for ( int i = 0 ; i < 6 ; ++i ) foo[i] = i ;   // foo = 0 1 2 3 45

// ҟ [foo.begin()+1,foo.end()-1)вᾼа
foo.erase( foo.begin()+1 , foo.end()-1 ) ;     // foo = 0 5


